Maytag DG30CA 04 - BURNER & CONTROLS-UPPER COMPARTMENT

001
002
003
004
005

006

007
008
009
010

011

012
013
014

M

( MODEL DG30CA-CM

)

BURNER & CONTROLS -~ UPPER COMPARTMENT
(BASO GAS VALVE)

3-30127 L.P.G.
3-30139 NAT

DG30CA-CM-ORIGINAL
Prior to Serial No. 4442175Y

3-31009

§‘j 3-31009 3-31086
R 3-31088
§ : r-/
"
4
ﬁ 3-31013
3-31049 3-30096 CM
gi}gﬁg via 3-3010% 3-30144 CM
‘ - 3-30106 3-30103 3-30104  3-31072 CA
**3-30108 3-30093 \ 3-21084 \
—=
\ Aty 3-31101
3-31026
3-30079
3-31041
3-3113 = ’L@ 9008
o 3-30166
—“—. —
, =Y
3-30068 LA 3-30062
3-30109 o Y
3-30110 3-31004
3-30127 ! 53654
3-30139 3-30081
3-30069 3:38?35
3-30098 3-30184
3-31003 3-30100
**3-30097 -

3-30074 331001

*CONTACT YOUR FR0D 5/ 19-200
DISTRIBUTOR FOR 3-31008
LOCKS A%D KEYS 3-31043

**Sec pages 2 & 3 for colors of these painted panels.

NATURAL 3-30068
6. 3-30109

3-31081
B4

N

3-30088
3-30073 3-31012

3-30065 2_10866

2-12220
2-12951
3-30078
3-30083
3-31073
9-1658

3-31014
3-31061
3-31141
3-31151

10

aytag Commercial Maytag DG30CA Dryer Parts Parts Diagram 04 - BURNER & CONTROLS-UPPER

COMPARTMENT
Click on the part number to view part

Original Part Number
NLA

210866

212220

212951

Y330064

Replaced By
Not Available

NLA Not Available

Y330068
NLA

Y330070
Y330073

Not Available
Not Available

NLA Not Available

Y330079 Not Available
330081

Y330082

Part Description

SCREW, No.5-40 X 3/8

Nut, Twin Speed

Screw, No.6-20 X 1-1/8 Inch
Screw, No.6-32 X 1/4 Inch
Pilot Light

CLIP - ACTUATOR TO
CABINET

Pilot Burner - Nat.

BURNER, MAIN

PILOT VALVE AND FILTER
Valve, Shut-Off

MANIFOLD FOR MAIN
BURNER

SWITCH, PUSH-TO-START
Timer - CA 60 Minutes
Timer - CA 60 Minutes


http://www.pwslaundry.com/c-299605-commercial-maytag-dg30ca-dryer-parts-for-repair-service
http://www.pwslaundry.com/i-7796941-maytag-210866-washer-dryer-nut-twin-speed.html
http://www.pwslaundry.com/i-7797006-maytag-213501-washer-dryer-screw-no-6-20-x-1-1-8-inch.html
http://www.pwslaundry.com/i-7796980-maytag-212951-washer-dryer-screw-no-6-32-x-1-4-inch.html
http://www.pwslaundry.com/i-7805741-maytag-y330064-dryer-pilot-light.html
http://www.pwslaundry.com/i-7805742-maytag-y330068-dryer-pilot-burner-nat.html
http://www.pwslaundry.com/i-7805746-maytag-y330073-dryer-valve-shut-off.html
http://www.pwslaundry.com/i-7801388-maytag-330081-dryer-timer-ca-60-minutes.html
http://www.pwslaundry.com/i-7801388-maytag-330081-dryer-timer-ca-60-minutes.html

015
016
017
018
019
020
021
022

023

024
025
026

027

028
029
030
031
032
033
034

035

036

037
038
039
040

041

042
043

044

045

046

047
048

049

050

051

052

053
054
055

056

057

058

Y330083
330084
NLA
Y330092
NLA
NLA
NLA
Y330100

NLA

Y330103
NLA
Y330105

NLA

NLA
NLA
NLA
NLA
NLA
330184
331003

NLA

NLA

331009
331012
331013
331014

331026

331032
331041

NLA

NLA

NLA

NLA

331084

331086
NLA
331090

NLA

331101

NLA

489483

400022-1
400022-1

Y0300830

8281196
90767

61002031

Not Available

Not Available

Not Available
Not Available
Not Available
Not Available

Not Available

Not Available

Not Available

Not Available
Not Available
Not Available
Not Available
Not Available

Not Available

Not Available

Not Available

Not Available

Not Available

Not Available

Not Available

Not Available

Not Available

Not Available

Not Available

Not Available

Not Available

Not Available

CONTROL, TEMPERATURE
Thermostat, Hi-Limit

GAS CONTROL ASSEMBLY
Terminal Block
THERMOCOUPLE---NA
FRONT PANEL-WHITE
SUPPORT FOR BURNERS
COIN BOX ASSEMBLY

CONVERSION KIT (NAT.TO
LPG)

Lock
LOCK
Pilot Gas Valve

MAIN BURNER SOLENOID &
VALV

FRONT PANEL-WHITE
PILOT BURNER - LPG
PILOT ORIFICE - LPG
PILOT ORIFICE - NAT
VAULT ASSEMBLY
Timer Accumulator-25
Screw 10-32 X 1/2

SCREW - BRACKET TO
VAULT

SCREW-CONT. BRACKET TO
HOOD

Screw
Screw
Screw No.10-32 X .375
Screw

Screw, 8A X 3/8 HeX Washer
Head Tapping

Screw, Handle
Button-Push-To-Start Switch

BRACKET FOR GAS
CONTROL

RETAINER BRACKET-MAIN
BURNE

VENTILATED COVER - HI-
LIMIT

Grommet-Temp. Control Tubin
Knob For Temperature Contro

MOUNTING PLATE FOR
TIMER

MOUNTING PLATE-
TEMP.CONTROL

SPACER - HI-LIMIT TO
HOOD

SUPPORT ROD FOR UPPER
DOOR

SHIELD FOR PILOT BURNER
PILOT SHIELD
Pilot Tube-Filter To Contro

PILOT TUBE-PILOT TO
FILTER

BEZEL FOR TIMER-
ACCUMULATOR

HINGE RIVET


http://www.pwslaundry.com/i-7801389-maytag-330084-dryer-thermostat-hi-limit.html
http://www.pwslaundry.com/i-7805758-maytag-y330092-dryer-terminal-block.html
http://www.pwslaundry.com/i-7805761-maytag-y330103-dryer-lock.html
http://www.pwslaundry.com/i-7805762-maytag-y330105-dryer-pilot-gas-valve.html
http://www.pwslaundry.com/i-7801398-maytag-330184-dryer-timer-accumulator-25.html
http://www.pwslaundry.com/i-7802278-maytag-489483-dryer-screw-10-32-x-1-2.html
http://www.pwslaundry.com/i-7802217-maytag-400022-1-dryer-screw.html
http://www.pwslaundry.com/i-7802217-maytag-400022-1-dryer-screw.html
http://www.pwslaundry.com/i-7805498-maytag-y0300830-dryer-screw-no-10-32-x-375.html
http://www.pwslaundry.com/i-7802766-maytag-8281196-dryer-screw.html
http://www.pwslaundry.com/i-7803254-maytag-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-7802316-maytag-61002031-dryer-screw-handle.html
http://www.pwslaundry.com/i-7801408-maytag-331041-dryer-button-push-to-start-switch.html
http://www.pwslaundry.com/i-7801415-maytag-331058-dryer-grommet-temp-control-tubin.html
http://www.pwslaundry.com/i-7801417-maytag-331061-dryer-knob-for-temperature-contro.html
http://www.pwslaundry.com/i-7801427-maytag-331090-dryer-pilot-tube-filter-to-contro.html

059

060

061

Not Available

Not Available

SCREW-TEMP CONTROL
LEVER

Lever-Temperature Control

TWIN FASTENER WITH
SCREWS


http://www.pwslaundry.com/i-7801430-maytag-331151-dryer-lever-temperature-control.html

	Maytag DG30CA 04 - BURNER & CONTROLS-UPPER COMPARTMENT

